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QUESTION 1

How can you achieve that a transport request from the DEV system will be imported into several clients of
the QAS system?

Choose the correct answer(s).

A. By using a client-specific transport target group

B. By defining different consolidation routes pointing from the DEV system to the QAS system

C. Itis impossible to achieve this with TMS.

Correct Answer: A

QUESTION 2

You want to patch the kernel of an AS ABAP+Java-based (dual stack) SAP system. Into which of the following do you
put the new kernel executables? Please choose the correct answer.

A. The ABAP kernel directory

B. The Work directory

C. The "KERNEL_NEW" directory

D. The transport directory, subdirectory "Data"

Correct Answer: A

QUESTION 3

Business APIs (BAPIs) can be used to trigger and execute transactions in an SAP landscape. Which of the following
statements regarding BAPIs are correct?

There are 2 correct answers to this question.

A. Data exchange by BAPI can only be done by asynchronous RFC

B. BAPI communication requires a connection to a central LDAP directory server
C. BAPIs are specialized remote function calls

D. BAPIs can be used for connecting external software to SAP systems

Correct Answer: CD

QUESTION 4
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What request types can be handled by the Internet Communication Manager (ICM)? There are 3 correct answers to this
question

A. RFC requests from or to the ABAP stack

B. SMTP requests from or to the ABAP stack

C. HTTP requests for the SAP integrated ITS

D. HTTP requests for the Java stack in case of a dual stack system
E. Enqueue requests from or to the ABAP stack

Correct Answer: BCD

QUESTION 5
Which statement regarding Local Printing with SAP NetWeaver AS ABAP is correct? Please choose the correct answer

A. If you want to configure Local Printing for an output device, you have to choose access method L or C, depending on
the operating system.

B. If you want to configure Local Printing for an output device, you have to choose access method L for any operating
system.

C. If you want to configure Local Printing for an output device, you have to choose access method U for UNIX operating
systems.

Correct Answer: A

QUESTION 6

You are a transport administrator for an AS ABAP-based SAP system landscape. In the import queue of a
single SAP system, you select multiple transport requests to be imported together. What happens when
these transport requests are imported?

There are 2 correct answers to this question.

Response:

A. If an object is included in more than one transport request, only the version in the last transport request is
activated/generated (according to the sequence in the import queue).

B. If an object is included in more than one transport request, it is first stored in the shadow repository. You can then
activate/generate selected versions from the shadow repository later.

C. If an object is included in more than one transport request, you can specify which object version will be
activated/generated using unconditional (import) modes.

D. The objects in the first transport request are imported and activated/generated first, then the objects in the second
transport request, and so on.
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E. All objects in all the selected transport requests are merged together

Correct Answer: AE

QUESTION 7

Your customer is configuring a Central User Administration (CUA) in AS ABAP connecting to multiple child systems.
Changes of the attribute "mobile telephone number" in the user master record in one child system should be transferred
to the other relevant child systems. Which setting for the attribute "mobile telephone number" in parameters for field
distribution via transaction SCUM (Central User Administration) do you use to fulfill this requirement? Please choose the
correct answer.

A. Global

B. Redistribution

C. Everywhere

D. Local

Correct Answer: B

QUESTION 8

In which sequence are the profile parameters read from the specified locations by the system? Choose the correct
answer(s).

A. Instance profile 2. Default profile 3. Kernel
B. start.ini 2. Kernel 3. Default profile 4. Instance profile
C. Kernel 2. Default profile 3. Instance profile
D. Kernel 2. start.ini 3. Default profile 4. Instance profile

Correct Answer: C

QUESTION 9

When implementing Central User Administration (CUA), which of the following do you need to consider?
(Choose two.)

You have to decide. either you want to use CUA or you want use a directory server for user management.
You cannot use both at the same time for the same client.

CUA uses ALE to distribute user master data. CUA can only be set up between two clients

Authorization profiles generated by role definitions are distributed along with role definitions.
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A. You should define logical systems, using the naming convention CLNT###, wheresignifies your system ID and ###
signifies a client number. You need to create RFC connections using the same naming convention.

B. You have to decide. either you want to use CUA or you want use a directory server for user management. You
cannot use both at the same time for the same client.

C. CUA uses ALE to distribute user master data.
D. CUA can only be set up between two clients
E. Authorization profiles generated by role definitions are distributed along with role definitions.

Correct Answer: AE

QUESTION 10

The figure shows the ABAP short dump of an aborted transaction in an SAP system. Which of the following statements
are true?

There are 2 correct answers to this question.

A. The error can be avoided by running the respective program in a batch job in the SAP system, if background
processing is possible for this program.

B. The error was caused by a transaction in the SAP system that exceeded the extended memory
C. The error can be avoided by reducing the memory usage of the respective transaction in the SAP system.

D. The error was caused by a transaction that exceeded the maximum runtime in a dialog work process of the SAP
system.

E. The error was caused by a transaction that exceeded the maximum runtime in a background work process of the
SAP system.

Correct Answer:. AD

QUESTION 11

Concerning Load Balancing for AS Java, while using SAP Web Dispatcher, which of the following
statements are correct?

There are 2 correct answers to this question.

Response:

A. Visual Administrator can be used for defining logon groups for AS Java, those are considered by SAP Web
Dispatcher

B. Transaction SMLG is considered for Load Balancing in AS Java as well as for AS ABAP
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C. The dispatcher of an AS Java instance distributes load between the server processes of the local AS Java instance.
D. SAP Web Dispatcher distributes load between different Java instances of one AS Java- based SAP system

Correct Answer: CD

QUESTION 12

In what sequence should you perform the listed steps when setting up operation modes? Choose the correct answer(s).
A. 1. Create operation modes 2. Assign instances 3. Distribute work processes 4. Maintain time table

B. 1. Create operation modes 2. Maintain time table 3. Distribute work processes 4. Assign instances

C. 1. Create operation modes 2. Distribute work processes 3. Maintain time table 4. Assign instances

D. 1. Create operation modes 2. Distribute work processes 3. Assign instances 4. Maintain time table

Correct Answer: A

QUESTION 13

You analyze the Oracle database alert log and discover the error message "Unable to extend tablespace".
What can you do to solve this issue? There are 3 correct answers to this question.

Response:

A. Set at least one data file of the tablespace to "autoextensible” (AUTOEXTEND ON).

B. Add a new data file.

C. Assign a data file to a different tablespace with more free space.

D. Enlarge a data file of the tablespace with a fixed size.

E. Create a new tablespace.

Correct Answer: ABD

QUESTION 14

Why would you use multiple data caches in SAP Adaptive Server Enterprise (SAP ASE)?
A. To allow cache selection based on current cache utilization

B. To speed up transaction processing

C. To speed up reading of partitioned tables

D. To reduce data cache spinlock contention on a single cache
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E. To speed up reading of tables with text columns

Correct Answer: BDE

QUESTION 15

Which work process types are there in an AS ABAP system? (More than one answers are true)
A. Update work process

B. Enqueue work process

C. Background work process

D. Message Server

E. Dialog work process

F. Spool work process

G. Internet Communication Manager (ICM)

Correct Answer: ABCEF
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